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RO n d a2k heel 9.0cm footsize 23.5cm
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ROND 4 (A) && 177 / B82.5 ./ W58  H85 ROND 4 (B) =& 177 / B825 ./ W58 ./ H85
5 RROND4 LROND4A /4% RWH LW16 [ RROND4 LROND4B .~ F4 RWH LWB

ROND 5(A) && 176 B825 / W59 ~ H85
[ RROND5 LROND5A .~ F5 RW16 LW15

ROND 5(B) =& 176 ~ B82.5 /W59 .~ H85
[ RROND5 LROND5B .~ F5 RW16 LWC

ROND 6 (A) =& 177 / B83.5 ~ W61 / H85
8 RROND6A LROND6 .~ F5 RW10 LW8

ROND 6 (B) =& 177 ./ B83.5 /W61 / H85
8 RROND6B LROND6 .~ F 5 RWG LW8
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R O n d Ox-F heel 8.0cm footsize 23.5cm
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ROND 8(A) == 175 B82 W59 Has
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ROND 8(B) =% 175 BE2 W53 HBS
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Make & Hair Rond
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